A7 ke
PHILOSOPHY[[<>/ p,,f‘g;:gzo
( General )
(Logic)
 Pull Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions .

Answer either in English or in Assamese

1. Answer the following questions as directed :

1x7=7
were Tl eppgEd TR s fir

(a) What 1s the literal meanmg of the word
Loglc v
“Logic’ *(0I] ?fo\_‘ﬂ_ o2 9

(b) Validity or invalidity is a property of
proposition / argument.

( Choose the correct answer )

(T091 T A1 2 54 /4R%] 5] 3t |

(o= TBICH 1S Shye )
20A/329
( Turn Over )
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(2)

(c) Give an example of argument form,
| 2. Answer the following

- IR SIPRA 901 THRI Tl |
3,0 (any four) :
; farRe Py Ao
-~ (d) Is the constant ‘~’ a logical connective? BIR0!) -
% SRIIACO! 951 S ACASF 270 2
‘ (a) What is normativ
(¢) On what ground does the validity of an e e 2
argument depend?
IR e B R eoe faide E2? - (b) Define logic prof
. M. Copi A ®
1) ' : |
M Give an  example of subjectless fe
proposition. ‘
SRR c) Define conjunctiv
ToT BT Tt fea | (

FEATEE 614 KA

( :
8) What will be the truth value of p v g, if

both p and g are trye? (d) Give truth tab

statement.

q-ﬁ .
qum,m@,mpqu RS SfEs 1O

T R 299

20A '
/329 . 20A/329
( Continued )
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(3)

2. Answer the following questiohs very briefly
(any foun : 2x4=8

ﬁﬁ%ﬁ@mﬁ%qﬁaﬁm(ﬁm
BIRO!)

(a) What is normative science?

weeffers R 2

(b) Define logic propounded by I. M. Copi.

I. M. Copi (¥ SARCERI SHRE e
izufll

(c) Define conjunctive proposition.

HAS 671 AR Tl |

(d) Give truth table for contradictory
statement.

RN Sfeq e lfers wife «4 )

20A/329 ( Turn Over )
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(4)

(e) What do you mean by logical constant?

S AR T &7 e & w2

(f) Write two differences between singular
proposition and general proposition.

IFT I A ARG 69 TS 01 41
| ferm

3. Give short answer of the following questions
(any three) : 5x3=15

ﬁwﬁ%mﬁawwm(ﬁm%ﬁm:

(a) Distinguish between truth and validity.

Tl SIIF (0N WER =N (A |

(b) Is logic a positive science or a
normative science? Discuss.

| Wﬁmwﬁwﬁémwﬁém?
| TG I |

( Continued )
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(5)

(c) What is symbolic logic? What are the
three main characteristics of it?
AT SR IR @RA? T T
cafEs oAt & o 2

(d) What is variable? Describe in this
connection the idea of truth function.
5o q RES IE @E? @R CFIS T
FoeE 4Rl i 1 |

(e) Describe different (ypes of simple
proposition with example.

thﬂt@ﬂﬁwﬁﬁvﬂm
Jefelt 41

4. What is an argument? Distinguish between
argument and argument form. 4+6=10

g@m@m?@w{ﬁﬂww

Or/ 131

What do you mean by traditional logic?
Explain in this case, the nature of deductive
logic. 4+6=10
oreqare SERER IR [ W R T
Fysre SRR A4S Jr| |

20A/329 . - ( Turn Over )
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(6)

for owing
¢ Construct truth able for the .fuﬁ p
‘ s and mention whether theae arc

, (e omradictory  of contingent
opical contradicte "
oo 545=10

glatement ¢

Ay SR
weorel (7 RS

4] .

slatemen

s Sifer A SF (B
@ i wafaPe R

(a) ~(p:>q)v(pvq)

(b) (p-q)°("‘PV”CI)
Or/ 73

Explain the strategy for determining the

validity or invalidity of an argument. 10

qmmmmw@ﬁm@mww.

6. Give modern definition of proposition. In
this case explain different kinds of general

proposition. - | 2+8=10
R S Tikw T R RIS THET 07
ffeq AR N F91

20A/329 ( Continued )
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(7)

Or /A&

Explain the drawbacks of traditional analysis
10

of proposition.

I RIS RETI SCIRIITR 10 341 |

* & %k

20A—8500,3
b 29
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3 (Sem-1) PHL M 1 (O)

2019

PHILOSOPHY
( Major )

Paper : 1.1

Full Marks : 80

| Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
OO PR Ted i

(@) What is the norm or ideal of logic?
R e 52

* {b}' What is the meaning of ‘Logos"r)
‘Logos’ %3 & f& 2

(c) On what does the validity - of an
argument depend?

901 I (391 23 8o iy 3¢9

20A/375 ( Turn Over )
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(2)

(d) Give an example of an argument form_

3t TR b1 G o |

(e) How many propositions should be there
in an argument?

= <51 Js ¥ 359 ¥ =Arcer 9

(/ Under what condition an equivalent
function (p = q) becomes true?

W%%*ﬂﬁwwwms@m
77 , |

(99 How many kinds of proposiﬁons are

there according to modern classification
of proposition?

T AT ofifeem wpR o @
4T 2 ok AL

(h) How many forms of simple propositions
are there according to modern logic?

mmw‘ﬁwmwm@iw?

() State under what condition a
disjunctive function is falge?

Wﬁ@%@ﬂﬁﬁﬁﬁ?ﬁﬁﬁﬂ@?

20A/375 ( Continued )
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(3)

() Can an empty set be the member of
another set? ‘ .
61 RS (4[7) “iszfe o b1 2feq T 29
ACICA ?

2. Answer very briefly : , | 2x5=10

(@ What is the intersection of sets?
W[ (= I @I ?

() What are the two conditions under
which an argument becomes sound?

R 701 58 9 2 <GB T S ey

(Sound argument) & FRI =T ?

(c) What is decision procedure? Is truth
i ; ' table method a decision procedure?

e afem e & 312 1w o &
93 e efem ey

(d) What is a class-membership
proposition? Give  an example of
class-membership proposition.

A STl 67 IF @A ? &R TS 559
9B Swrge i |

(e) What is finite set?

S 72 & 9

20A/375 ( Turn Over )
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(4)

3. Answer any four briefly : 5x4=20

R @ wiftr 7Y Ted 4

(a) Describe the structure of an argument
with the help of an example.

<51 TR TS YRFF e 4T 3T |

(b) Explain briefly about five logical
constants.
oI $9¢ q TALSR ADOR @F TY ARM

IRl |

(0 What are subjectless and subject-
predicate propositions? Explain with
examples.

SRR T o Sm-Rem T I
@A HREPRAMFAN

(d) Explain union of sets with suitable

example. |
THE BRATR ST &9 A1 e

<91 |

(e) Construct truth tables for equivalent
function and implicative function.

TAF G S Foiod 379 e 519 7 |

20A/375 ( Continued )
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(S)

(f) Write a short note on set-membership.

GRS STl FoicF b1 59 (BT for |

4. Answer any four : 10x4=40

RESICIRTIE DR ACEIE

(a) What is an argument? Explain the
distinction between an argument and
argument form with suitable example.

IS TR @A ? BRE SRR OIS 5 AT
& AP Trere 4T 14 -0 41 |

(b) Construct truth table for the following
statements and find out their logical

-status :

Ryfoorrzy o &S fdfy 31 |
() [~~(pv-9>2~@v-~4q]
(@) (~p=qg=[(~r>9-@>~p)]

() What is a simple proposition? Define
each of the different forms of simple
proposition ‘with example.

9 /A I @AN? R[fed oeRI @

PRI SR A foa |

20A/375 ( Turn Over )
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(6)

(d) What is.a set? Symbolize the f°110win
propositlons by means of set notationS .

SEfe I (@ ? OO fr W Mafen
e JoOPrIFOd JFMT 1 ¢
(ij All philosophers are wise.
srecetl TPl 2 @Al |
(i) Some teachers are sincere.
foga Pres =g o |
(i) No man is perfect.
CRICTT Mee2R o 7=y |
(iv) Some mangoes are not sweet.

T e R e

(e) E.xplain__ the nature of conjunctive and
disjunctive  truth functions ' with

exampl.e, giving truth table for each of
them. -

TRAPR SR S R 79 57
i 5x0-10
Zhuat is truth table method? Explain the
Val'th‘ table method of determining the
Sy of arguments with suitable
~SXamples,
Adeo] WS 6 2 w1e; wifer oafor T

T ey QR iy v @, O

( Contiﬂue
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(7))

(g9 Explain the modern classification of
proposition.

R W AR < 39 |

(h) Explain the different forms of general
proposition with examples.

WW%WWWW
90

= & & &

20A—3000/375 3 (Sem-1) PHL M 1 (O)
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3 (Sem-2) PHL M 2

2019

PHILOSOPHY
( Major )

Paper : 2.2

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following ‘ queétions as

directed : 1x10=10

7(a) Name the theory of truth supported
by the realists. |
qEEAMPRRCe LT T Tyl AP OGO
am ferart ,

(b) “If ideas Wdrk, they are true.” Which
theory of truth support this principle?
‘o @I 4R IR W, (SR R Y
= 1”7 OO (FICH! TOAICH e& AfSchr T
= ?

A9/864 ( Turn Over)
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(2)

by Wiich of e foilowing pairs is not

portatsy ssted?

‘W’ m /)'TMX Ea, l;v'bi?i’ }}’w

W&p ‘/

£ . Z Moore . Correspondence
theory

£ Bezd - Coherence theory

i Schdler - Correspondence
theory

: ce theo
foy Boszmons - Coiieren Iy

ﬁ St o ':'4» 'r ___J.s- i o‘f mth Wthh
) Sp degTeES of wuth.
= o9 FEe I Hii

,,52 -——-—z ~c:4i
==

¥

is
s BT ‘ the1sm /
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1

(9)

(h)

)

0)

A9 /864

(3)

Is Leibniz a monist, dualist or
pluralist?

st Saed, (Red (TR 7

Following Locke, which of the
statements  mentioned below is

correct? |
R ORI TS B 391 SRR 159Te g
! W% ? |

() Substance is  the unknown
substratum of known qualities.
74 (S B O AN |

(ii) Substance is the known
substratum of unknown qualities.

7 (20T TES g TO A
dT imé are empirically real

“Space an
but transcendentally ideal.” Who 1is

associated with this statement?

“mquﬁw@?mﬂw%@

SoREeE SRS e 1 g% SFEOR
F5S WO IRl (P ?

What is perceptual Space?

srerHare ¢l T &

Which theory of meaning is associated

with elimination of metaphysics?
SRR Il A e o REe ©% weo

2 SR?
{Tw'nOveT)

el
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(4)

2. Briefly answer the following questions - 2#5

fa) Explain any one defect or criticism of
correspondence theory of truth,.

FEE A MPIRN SGOR R caprcen a5
T8 1 FRITADH AT F4 |

(b) State any two characterisﬁ'cs of
coherence theory of truth.

Tl Aoy mﬂﬁm@ﬁ@ﬂmiﬁwﬁﬁ%
AT 39 |

(c/) What is the meaning of Spinoza’s
dictum—Determinatio neagtio est’ or
Every determination Is negation”

‘Determinatio neagtio est’ q “Sypgay g9

ey RS’ —Porzae ANt
QY fF 9 e

d differ
(d) State two differencesg between

(e)

A9/864
( Continued )
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(S)

:’3 answer - any . four of  the following

questions : 5x4=20
o APTRE R srﬁr?ra Taq fr -
(@) Explain briefly the pragmatic theory of
truth. - :
Sorel TR Fedm Zoret Socarorm ol
BY(F I A

(h) Write a short note on Russellian
correspondence theory of truth.

mﬁwwﬁﬂwﬁmaﬁs{,
O e |

(c) Write a short note on Kant’s view of
causality. '

WWWW‘T@WWQ@W@T@ ,
fora | Bl ¥

(d) How does A. J. Ayer draw tﬁe
distinction between strong and weak
verification?

e N FC 2

(e) What do you mean by categories of
knowledge? Briefly explain.

wd 2l etest 6 o1 2 oL e 0
A9/864

| ( Tum Qvgr}
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e e g

(6)

() Briefly explain the  psychological
argument in favour of determinism.

P ST e e R o
T SISRCOET |

4. Explain the nature and criterion or test of

truth.
o[ mﬁmaqsﬁowwemﬂ%’rﬁﬂﬁmm

S50 |

10;

Or/ &

Explain and examine A. J. Ayer’s view on
elimination of metaphysics.

q. (& ARG SRRm qEq (e TodmoN
FACEATSATIE I 7S 44T |

d
[

!

5. Critically explain Hume’s view of causality. 10
TR IRTS] AP TS FWCADAAE N
H19CRIET |

Or / 241

Explain Descartes’ view of substance.

CSIGT T SRR TOMCBT I 4T |

6. Are Space and Time subjective  or

objective? Discuss. 10
P S Bl GO ¢ IS 7 o1 91 |
A9/864 ( Continued )
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(7)

Or / w34l

Explain and examine the rationalist
entailment theory of causation or causal
theory of necessary connection.

el oy IR WP ©g A SR T
wECH! AT SE < A |

7. What is indeterminism? Give four
arguments in favour of indeterminism or

freedom of will. 2+8=10
SEERRR 1 ToERE 7 SFEeIm a2
HRTOR o BIR0! IE SO |
Or/ A
Write a note on self-determinism. 10
T A TR R ofb o T | |
* * %
A9—7000/864 \ 3 (Sem-2) PHL M 2
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3 (Sem-5) PHL 2
2019

PHILOSOPHY

( General )
Paper : 5.2
( Indian Philosophy—II) -

Full Marks : 80

Time: 3 hours

The figures in the margin indicate Jull marks
for the questions

Answer either in English or in Assamese

1. Answer the following / Choose the correct

answer ' 1x10=10
T AR Bew ol / wm SeIdr Qs
Sferaar

(a) What are the stages of perception
recognized by Nyaya Philosophy?

Y W] 7l FPS Aerwd ARERRn! 2

20A/144 ( Turn Over )
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